Home Learning M TH week 11

Monday - Week 8 lesson 1

This is where this weeks videos

Summer Term - Week 8 (w/c 15th June) -
will be

Summer Term - Week 7 (w/c 8th June) +

Summer Term - Week 6 (w/c 1st June)

Tuesday - Week 8 lesson 2
Wednesday - Week 8 lesson 3
Thursday - Week 8 lesson 4

Friday - Week 8 Friday Maths Challenges (Click here for challenges)

link to access the videos

You will need to use this ‘ https://whiterosemaths.com/homelearning/year-6/




Home Learning M TH week 11

This week, you will not be able to access the

worksheets online.
I have included them as a PDF file and are

accessible through the school website.

link to access the videos

You will need to use this ‘ https://whiterosemaths.com/homelearning/year-6/




Friday Challenges

Challenge 1 Challenge 2
Rani has 38p. e

o

I have 20p less
than Eva.

How much money does Eva have?




Challenge 3 Challenge 4

A square is divided into smaller squares.

A sequence is made up of three 2-digit numbers,

The sequence increases by eight each time. These are the digits that make ¢
the three numbers,

Work out the numbers in the sequence.

What fraction of the square is shaded?



Challenge 5

The mass of an empty jar is 470 g.

6 marbles are placed in the jar.

OCOOOOD

The total mass of the jar and marbles is now 1.1 kg.
Two of the marbles are removed.

What is the mass of the jar and marbles now?

Challenge 6

Work out the value of B.

132



https://wrm-13b48.kxcdn.com/wp-content/uploads/2020/06/Family-Challenge-Friday-19th-Answers.pdf

Answers - Monday

Solwve twn-step Eq_l.lﬂtiﬂl'lﬁ i ﬂ There iz the some nwmbber of cownters under each cup.
There are 16 counters im total.

al Use v o represent the numiber of cowunters under each cup.

Wirite an equatian in terms of v
O O @ Dy 4 Ly = 1l
=

bl Sobes the eguation o find the vabue af .

n- Here is a part-sebhode moaodel.

al Write an eguaticn for the part-wihale model
Do + 4y =00

bB) Saolve the equeotion Do wwork ot the vabue of ‘
o=
) Howw many cownters are under each cup?

“ Write oan algebroic equation o represent eoch boar meossel

ﬂ- I each raulitilink culbse represents x, forrm and solbve an egueation To Fimd the walwes of a and &
firmd the wvalue . al bl

=1 a6
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o Solve the equations. Q o Alex ks v years old. g

al Sr+ 1 =31 d) 9 =Zy+ 8 Her friend Bret s 3 years alder.
The total of their ages is 25
How ald are Alex amnd Brett?

y=|o-5

bl Ir-3I =9 e} 10y — 2 = a5

wexin[ 1] T

z==| L --.
€ a4p—11=3 f 4+ 3y=28 : n L=y @ @ g
r-[E=] 5] [e2]

a) Waork owut the cost of one banana and one orange.

o Damd thinks of a mumbses.
She doubles it and odds =
She gets the answer 15

al Write an equation o represent Donis probbem. One bonano costs One arange costs

Doy 3=15

bl Compare methods with o paroner. @.
b} Solve the eguation to find her number.

i



Tuesday

o a and & are whole numbers.

Za+ b=14

Find pairs of values (2)

Complete the table to show different possible values for a and b.

o o 1 2 3 4 =1 [ ra
o Class & are trying to solve a number puzzle.
A-A-@- = ° 8 s e © e e
a) b 14 |2 1O & & G 2 S
The triangle
could be 3 and the 2 + B 14 14 1a a .
circle could be 4 * b 1 I Wy

Do you agree with Dexter? __Hen
Explain why. e c and o are both integers less than 15 but greater than zero.

24D =r

B3c—ad =2

Complete the table to show different possible values for ¢ and .

)
The triangle

is worth &

L] 1 2 3 < 5

. o | VoL 15

3
11}

What is the value of the circle in Dora’s number puzzle?
o 1 Ly & o =2

'.'= 3c — o 2 2 2 2 a

€) Find other pairs of wvalues that the triangle and circle could equal.

Find three pairs. b) Explain why there are no other possible values for ¢ and o.

A-EI @-[ =] A5 @[] e S

e, VS
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ﬁ x and p are both multiples of 5 less than 100
If 2x = y, circle the possible values of x and v,

Here is a rectangle. * *
x and y are both mtegers.

r_

The rectarsgle hos o perirmeter of 28 o

al Write an equation 1o represent the perirmeter of the rectangle.

Qoc 42y = IE

b Lt all the possible pairs of walwes for @ and 3.

ac. =k W o= 13 o= 5 L |
E [}

e i | g = B = w = B
[¥ ) [ )

o W a1
=)

L w =
o

Commpeare answers with a partrer. How do gou know yow have
found all the possible values?

ﬂ Ajdha = bwying some stationerny for schoasl.
She spends exocthy £1

List the possibkle combinations of pendils
and pens that Aisha could have bowght.

L pens £ 0 0F peanln

Aagenn £ % eercale

° Ron hos four digit cards.
& Tweo of the cards hawe the some value.

w All of the cards are |ess than 10 but greater thon 2ero.

= &l of the cards are odd.
= The sum of the fowr cards is 24
Find tweo possible sets of cards.

set1 | | =) 9

setiz | 7| | =

al Fimd a pair of possible waluwes for o and B

tq <=| &b b=l L

bl Waork with a partner to find as many pairs of walwes as you can.

0

<




Wednesday

Conwvert metric measures C €D compiete the bar models.

al

1 krm 1 km 1 krm 1 km
1,040 1w 1,000 m 1, 205 ey, 1, O s,
ﬁ Howw mamy centimetre cubees oom ygow fit alang o metre stick?
Thers ars e 4 ke
EErTTEETT
[=1]

1 kg 1 ka 1 kg 1 kg 1 kg 1 kg

1,000 g | 1,000 g | 1000 g I,-::ll.‘.ﬂu:‘:!| Ii._,'::l‘mj '-a"::""":ﬂ-
Whot does this tell yow? @-

ﬂ Cenmpslete the samterces

ﬁ Complete the conversions.
a) There oare I.-DU':‘ grams in 1 kilosgram.
al 2 kg =2, 0000 a B} 11 = 1, O | nll
There are | | ODO kilegroams in ome tomme.

Ska=| 5,000 a Sl=| 5,00 |mi

b)) The=re cre mrvillilinres i 1 ligre. 1 kg = = 11 1 = (L el il

12kg =
€l There are mllllmz‘tr‘zs. in 1 oemtimetre
There are centimetres in 1 rmetre
ﬂ A bag of dog food webkghs 2.5 kg
The=re ore m-etrzs im 1 Eilormenre. ite this weight in g .

J1&

There are L, So | g in 65 ka-

= Yetine P RAaTha 300 E




Witeol mmsasurements are the arrows painting to?
Lakel therm on the number line.

0 0-5 I

Complete the conversions.

al 10 mm = i £ 1] mrm = 1.1 om
11 mrm = i1 £ I.:|| mim = 1001 e
[0 Jm - s1m

By 20 km=| 2 (g0 |m 20t km=| 1 ol0 |m
zoorkm=| 2 pof |[m 2ot km=| T, 0001 |m

WVIFIDE > | < ar = Lo campbete the staterments.

a) 103 rm @ 1 krm hy 511 @ 5. 100 rml
10 m @ 10 om Eﬁ"l@ﬂ.ﬁﬂ?ml
101 mrm @ 101 om oS @ 5 rrl

o Dora and Ameic are trging to convert 105 metres into millirmetres.

You can multiply 1.05 by 100 to
convert it inta centirmetres, thern
rmultiply the product by 10 to conwert
it inpe millimerres.

-
N Doara |

Who do you ogree swith? & okt
Explain your thinking.

@ Wihat = the mass of one of the boxes?

Giwe Wour answer in groms.

250 9

m There are 1,000 kg in one tomnme. @

all How many grams are there in one tonne?

I,:}D-El,ﬁ?l'-'r"ql
b & cor weighs 1.3 tomnnes. -
wirite the weight of the cor in grarms.

hgggaamnj




Thursday
fiv=2)

ﬂ Cormplete the conversiorns.

al n'lih-_rs.-Iﬁ-l:ll:m -] '95-rn|le5—lcm
bB) 45 miles — = A Erm &) 7.5 miles -mlun
n Tick thee statements theal ore Troee - -

Use the bar model o help gpou.

a}) 5 miles is approxirmately equal to e DS g

Bk
h&1nﬁhi5lnngumm1hhtnﬂrt_m?
) 2 kilometres B longer than 1 mile.

Miles and kilometres

ﬂ—ﬁ-l[:ll-:m bl Irnlls—l:m

d) 2 kilometres i@ longer than 2 miles. (I ﬂ — o
If 5 miles is wnmm

B kilormevres, then 10 rviles is

o . v appraximately ‘IEE{_/I
ﬂ Fill in the miEsing numibers om the number lime. _ﬁh__q____—
I | 5' | o | I [ =% I Here is Whitmey's working owt,

i

- b r 5 miles = B krm
N I = I " |le'_:| |3;1] +5C1&m:=13m:>+5

Explairn Wkitreey s rristoke_

a Crmmpslete Thee cormesrsioms.

@) S5 rwibe=s —Izll:iln-metrﬁ b) miles = 16 kilometres
10 rmiles - kilometres I: mile = 1.5 kilometres
15 muiles - kilametres miles = 0.8 kilometres

B ahines Fooas RAatha JD0E



¢

° A marathon is approximately 26 2 miles. O' o Esther cycles 70 miles over 4 days.
How far is this in kilometres? On day 1 she aycles 14 miles.

On day 2 she aycles 32 km.
On day 4 she cycles twice as far as she does on day 3
How far does she aycle on day 47

Give units wath your answer.

L1 9%em
24 endans
0 The maximum speed limit on residential roads in
the UK is 30 miles per hour. @
o Use a map of your local area. Vorouwn onswers. Q
Find something that is approximately:
In France, the maximum speed limit on residential a) 1 mile awoy from your school
roods s 50 kilometres per hour. @
b) 1 km away from your school
a) Which country has the higher speed limit for these roads? @
Yrance ¢ S miles away from your school
d) S km away from your school
b) What is the difference between the speed
limits in miles per hour?
Compare answers with a partner. @
B ]ST“-R\ o~z
B Wazis Bess Agates JO18 -3



